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Chemical Reactions

Set 15
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0.223
CuSOy) = —==
c(CuS0)=4125

=1.78 mol L

ciNaCi) = E
2.05

=0.571 mol L"

0.0335
ANy = ———
c(AENO) = <0550

=0.134 mol L!

n(KNO;) = 2.55 x 0.105
=268 mol

n{Na:CO5=0.112 x 2.50
=280 mol

n(KMnQy) = 0.230 x 0.660
=0.152 mol

n(KC{) = 1.26 x 0.630
= (1794 mol

m(KC#) =0.794 x 74.55
=592¢g

n(Na:COs) = 0.265 x 0.250
=6.625 x 10 mol
m(Na;COs.10H,0) = (6.625 x 107) x 286.15
=190¢g

n(C:H204) = 0,420 x 1.05
=0.441 mol
m(C-H20,.2H,0) = 0.441 x 126.07
=556¢

n(Cr"y = 2 n(BaCly)
=2 x (.200 x 0.0250
= 1.00 x 10” mol

n(SO4™) = n(Na>S0y)
= 2.56 x (1.550
=141 mol

n(NO3') = 2n(Pb(NO3),)
=2x(2.02x 10" x2.20
=8.89 x 107 mol

10.0
KCOy) = —
nRLO = 13870

=7.23 x 10 mol




6.

7.23x107°

0.220
=1(1.329 mol L."!
[K'] =2[KCl
=2x U329
=0.658 mol L'
[CO:™] = [K2COs]
=(.329 mol L'

[KCO;] =

¢, Vi=c,V,
0,250 x 0.250=14.0x V2
V= 0.250x0.250

14.0
=446x 107 L

n(NH;") = 2 n((NHsS0y)

=2 x0.360 x 0.250
= ().180 mol
n(NH;") =n(NH:NO;)
=0.675x 1.20
=(0.810 mol
n(NH;" total) = 0.180 + 0.810
= (1.990 mol
N 0.990
N =
(NH] 0.360+0.675
=0.956 mol L'
0.500 x 0.0250 = 0.120 x V,
V= (0.500x0.025
" 0.120
=0.104 L
150 x 1.10=0.210x V;
V, = 150x1.10
0.210
= T86 mL
Viadded) = 786 — 150
= 636 mL
25.6
a n(NaC0Os) =
. ( V= 105.99
=(.242 mol
.
[Na,COs] = 2242
0.200
=1.21 mol L
b) n(Na") = 2 n(Na:CO3)
=2x1.21 x1ﬂ.{}2{}ﬂ
=484 x 107 mol
[Na*] = 4.84x107
(. 100

=0.484 mol L



